HEERRE 1/2
2022 F 1 A &
i REEEL2—
BEYDIELE T H
HERE 3,884.46 t
184F 25IF
BIEME FREEGFEHOD) KRR EER (SR A)
mprzaE« | MEAS '8~ ©3A 2 8 ~ A
B ~ B ~
BIERER (EH{E) 918 °c (E{E) 912 °c
HAEfE =800°C =800°C
184F 25IF
BIERE NI 7408- A0 ER NT72408- A0 ER
gmEAnEEq| mEAm '8~ 38 2 8 ~ 98
B ~ B B ~ B
BIERER (E{E) 168 °c (EYfE) 169 °c
HAEME HHT1200°CLLT HHT4200°CLLTF
1545F 251F
BIEME JEZE A O KEZEAOER
—minmeEa | MEAR '8~ ©3° 2 8 ~ A
B ~ B B ~ B
BIERER (FEH1E) 3 ppm (EY{E) 3 ppm
HEE =100ppm <100ppm
HRBENE NT T4 E— il 9 2 i 38
o 7 3 A A 7 :
25IF A H R H A =]
1547 281F
ARG E FERAIERT— 8 fEZRAE RT—E
B BIEEAH A B A B
wEFAAR A H A H
JAEREER ng-TEQ/mN ng-TEQ/mN
HAE(E ng-TEQ/mN ng-TEQ/mN
1547 RERBREY L CA Biek%k ERBILY
HAZRERME |[EZAERT—U8]| BRATRT—V8 [ ERATRAT S8 BERATRT—IH
BIEAAR 1 A 13 Bl 1 A 13 8| 1 A 13 Bl 1 A 13 H
wmEARAH 1 A 20 8| 1 A 20 Bl 1t B 2 =] A 20 H
HIELER 00295k mN/h[ 0.001ki# g/mN 16 mg/mN 44 ppm
EER HAE(E 92 mN/h 0.04 g/mN 700 mg/mN 250 ppm
28R mEBIEY (L CA BiekEk ERBILY
HAZERME |[EZAERT—U8| BRATRT—V8 [ ERATRT 8| BERATRT—IH
BIEAAR 1 A 13 Bl 1 A 13 8| 1 A 13 Bl 1 A 13 H
wEAH 1 B 20 8| 1 A 20 Al 1t A 20 Al 1 A 20 H
BIELER 00285k mN/h|[ 0.001ki# g/mN 5 mg/mN 43 ppm
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1,923.38 1,13155 0.00 3,054.93
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t t °C °C °C °C ppm ppm
123t =800°C FHL1200°CLT =100ppm
1 112.54 922 170 3
2 11453 922 170 3
3 114.36 921 170 3
4 113.08 920 170 3
5 115.61 914 170 3
6 115.50 916 170 4
7 115.32 917 170 4
8 115.95 919 170 4
9 114.94 912 170 4
10 112.84 921 170 3
11 115.92 26.04 917 169 4
12 110.30 114.92 918 899 160 160 3 4
13 115.14 115.04 913 907 160 160 3 3
14 41.28 118.13 913 165 3
15 117.96 913 170 3
16 121.72 915 170 3
17 115.07 921 170 3
18 115.00 915 170 3
19 119.31 908 170 3
20 115.92 913 170 3
21 116.42 913 170 4
22 120.14 913 170 3
23 120.23 908 170 4
24 116.12 917 170 3
25 112.19 912 170 4
26 115.28 911 170 3
27 114.94 908 170 4
28 115.61 911 170 4
29 117.06 911 170 4
30 115.02 913 170 4
31 115.03 913 170 3
=X 1,527.31 2,357.15
2R A E 3,884.46
iy 114.31 116.56 918 912 168 169 3 3




